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try {

if (TheYear <= 0)

throw

cout << "\nTheYear: " << TheYear << "\n\n";

catchi(Chh f

cout << BanuG

return 0;
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CODE
1. #include <iostream>

2. using namespace std;

4. int main()
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int TheYear;

cout << "TheYear ";

try
cin >> TheYear;
if (TheYear <= 0)
throw "Hellow" ;

cout << "\nTheYear: " << TheYear << "\n\n";

catch(...){

cerr << "\nSomthing is not right\n":

cont e

return 0;
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CODE
1. #include <iostream>
2. using namespace std;
35
4. int main()
G
6. int TheYear:
7
8. cout << "TheYear ":
9. i = i
10.
sl
128 Ery
a3 cin >> TheYear;
14. if (TheYear <= 0)
{5 throw "Bad Value" ;
L6 cout << "\nTheYear: " << The¥ear << "\n\n";
177 }
P
19. catch (char *Error){
20. cerr << Error << endl;
el }
22
s
24 catch(...){
25 cerr << "\nSomthing is not right\n";
26 }
27
28. cout << "\n";
o
30. return 0
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read_file()
{
try
{
open the file
determine the size
allocate enough memory
read the file
close the file

}

catch(open file failed )

{ do some thing }

catch(size determination failed)
{do some thing }

catch(memory allocation failed)
{ do some thing }

catch(file closed failed)

{do some thing }

SN Tl B3 353t das

try,catch, throw, finally

A0 s sl 2 58I J3A e Lol Ay o g La Uk a5 131 iy iy 0580 i

.catch

Exception Handling eui eUad¥) dallaal 44, lall o2

SOMSEAN TR Qg3

» bl NS e el dalles





image3.jpeg
B @3 e

AZYERVARARY

i TRY-.CATCR

throw Exception()

}
catch( Exception e )

{
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void main()
{

evesy T e

cin>>year; : 2

if(year<=0) - i

cout<<year;
}
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(e
b

A gall Al el ) 35 i g





image4.jpeg
VALY EFY

=AM THROW SR

void main()
{
int year;
cin>>year;
try
! i o (e
if(year<=0) "—;LA'
throw "hello"; B |
cout<<year; ; 1
’ ; i
catch(...) O R e
{ cout<<"not right"; }
1
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void f(Number x, Number y)

{
try {

Number sum = x + y:
Number diff = x - y:

Number prod = x * y:
Number quot = x / y¢

catch (Number::Overflow& exception)
{ ... code that handles overflow...}
catch (Number::Underflow& exception)
{...code that handles underflow ...}
catch )Number::DivideByZero& exception)
{ ...code that handles divide-by-zero ... }

class o3y
{
public:
double
DividedyZarc(double x}:

}:
Divide3yZero::DivideByZexc(double x) : dix]
18}

int divide(int %, int y)

i

L€ (y==0)
{

throw Divide:
1
b
veid main()
{
try
{
duvide(l2, 2
}
catch (Divida3y;

{

xc.dect by zeval;

}





